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Question One ( Total - 18 marks) Begin your answers on a new page.

(@ If z =3+2i, ploton the same Argand diagram:

z and z
iz

z(l + i)

Find all the pairs of integers a and b such that (a+ b)Y =8+6i

Hence solve: 22 +2z(1+2i)— (11+2{)=0

Ifz= cos—l?f- + isin% , find the value of 2°

Plot on an Argand diagram all complex numbers that are the solutions of 28 =1

(d) Sketch the locus of the each of the following on separate diagrams:
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Directions:  * Answer all questions on separate lined paper.
* Begin each question on a new page.
* Show all necessary working,.

* Marks may not be awarded for careless or badly arranged work.
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Question One comtinued:

™

Vol

fé’ (e) In the diagram below, P represents the complex number 3+ 2/ and Q represents 7+ 8/ .

(i) What complex number is represented by the vector PQ? 1

(ii) Suppose that R is the image of Q under an anticlockwise rotation of —725 about P. Write the complex

number represented by the point R. 2

Question Two ( Total - 8 marks ) Begin your answers on a new page.

The diagram below shows the discontinuous function y = f (x)

y

A 4

Draw separate sketches of each of the following:
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2 @  y=In(r(x)
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